
  
 

  

   

   

                
     

                   
  

                  
  

                    
  



  
 

  

   

   

                
   

                 
 

                 
            

   

                  
   





  
 

  

   

   

         

               

                  
  

              

2022 STAAR English II Rationales 

Item # Rationale 

4 Option F is correct This sentence is more direct and concise than sentence 26. 

Option G is incorrect This sentence is awkward and loses the connection between freeze drying and preservation. 

Option H is incorrect The information in this sentence is confusing; it is also a run-on sentence that has incorrectly joined 
two main clauses. 

Option J is incorrect This sentence is awkward, and the logic of the sentence is unclear. 
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2022 STAAR English II Rationales 

Item # Rationale 

7 Option B is correct The information about athletic shoes in sentence 20 is not necessary, so sentence 20 should be deleted. 

Option A is incorrect Deleting this sentence would remove important information about the switch to urethane wheels. 

Option C is incorrect Information about the benefits of urethane wheels is relevant to the development of ideas in this 
paragraph, so this sentence should not be deleted. 

Option D is incorrect Nasworthy and Stevenson made important contributions to skateboarding, which is relevant information 
to include in this paragraph. 
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Item # Rationale 

9 Option B is correct This sentence logically fits after sentence 30 because it expands on the idea of skateboarding becoming 
more mainstream. 

Option A is incorrect Placing this sentence before sentence 30 confuses the reader because the word that “It” refers to is unclear. 

Option C is incorrect Since the writer has moved on to the 
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Item # Rationale 

11 Option C is correct Replacing “they are” with “it is” corrects the agreement in number between the subject—“this solar water 
purifier”—and the pronoun, which should be singular. 

Option A is incorrect The comma after an introductory word is correct and should not be deleted. 

Option B is incorrect The use of “than” is correct. Replacing it with “then” would indicate change in time and would make the 
sentence incorrect. 

Option D is incorrect Changing “widely” to “wildly” would incorrectly change the meaning of the sentence. 
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Item # Rationale 

12 Option G is correct The word “environments” is plural, not possessive, so it should not have an apostrophe. 

Option F is incorrect The word “divercity” is misspelled and would make the sentence incorrect. 

Option H is incorrect Changing “presents” to “presenting” would create a fragment, which is a group of words that is not a 
complete sentence. 

Option J is incorrect Changing “have” to “has” would create an error in agreement with the noun “challenges” in the sentence. 
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Item # Rationale 

13 Option B is correct Changing the comma after “drinkable” to a semicolon corrects the run-on sentence. Run-ons happen 
when two main clauses are joined incorrectly. 

Option A is incorrect Changing “can” to “could” changes the meaning of the sentence and makes it illogical. 

Option C is incorrect The word “quickly” is the correct form of the word and should not be changed. 

Option D is incorrect “Prosess” is an incorrect spelling and would result in an error. 
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Item # Rationale 

14 Option J is correct Changing “assessible” to “accessible” corrects the spelling error. 

Option F is incorrect The comma after an introductory word or phrase is correct and should not be changed. 

Option G is incorrect Changing the verb to the future perfect “will have been” is incorrect. The tense needs to stay as it is 
written: “will be.” 

Option H is incorrect The word “purified” is the correct form of the adjective and should not be changed. 
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Item # Rationale 

15 Option B is correct Changing “middle school” to “Middle School” corrects the error by capitalizing the proper noun, which is a 
noun that refers to a specific place. 

Option A is incorrect 
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Item # Rationale 

16 Option H is correct Inserting a comma after “enough” corrects a punctuation error because there should be a comma after a 
long introductory phrase that contains a verbal element. 

Option F is incorrect Changing “that” to “these” would create an error because “that” is referring to only one thing and should 
remain singular. 

Option G is incorrect 
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Item # Rationale 

17 Option A is correct Changing “those” to “him” corrects the pronoun error because “him” refers to a single person, Ethan. 

Option B is incorrect Inserting a comma after “ages” would create an error in the sentence. 

Option C is incorrect The word “there” is used correctly because it is indicating a place. 

Option D is incorrect Changing the spelling of “aspirations” would introduce a spelling error. 
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Item # Rationale 

18 Option J is correct Changing the spelling of “commited” to “committed” corrects the spelling error. 

Option F is incorrect Deleting the comma would create a run-on sentence by joining two main clauses incorrectly. 

Option G is incorrect The correct form of the pronoun is “those” and should not be changed. 

Option H is incorrect Inserting a comma after “issues” creates a punctuation error. 
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Item # Rationale 

20 Option G is correct The author’s purpose is to explain how “generational change”— the behaviors and preferences of 
Millennials—influenced the business model of co-working and co-living spaces with emphasis on community. 

Option F is incorrect The author makes no mention of one generation impacting another. 

Option H is incorrect The author’s purpose is to explain the influence of Millennials on the business model, not to explain how 
participants join co-working and co-living spaces. 

Option J is incorrect The author does not focus on a contrast between the behaviors of multiple generations. 
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Item # Rationale 

23 Option A is correct The author begins the excerpt by describing the increasingly popular trend of co-working and co-living 
spaces and then continues by discussing how this rising trend suits 
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Item # Rationale 

24 Option G is correct Based on paragraphs 6 and 7, the author would most likely agree that Millennials desire community in all 
aspects of their lives and “would rather do most of their living and working with others.” 

Option F is incorrect The idea of co-living being available for prior generations is not mentioned by the author. 

Option H is incorrect The author does not specifically link the most successful businesses to the meeting of Millennials’ needs. 

Option J is incorrect Even though the author implies that many people currently work in a more isolated environment, his focus 
is not on what the rising trends offer. 
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26 Option H is correct In this sentence from paragraph 3, the author hints at the fact that Desmond’s writer’s block will continue, 
and his novel will not progress, as he will still put the blame on someone else. 

Option F is incorrect This sentence from paragraph 1 helps establish what the living conditions are like but does not 
foreshadow the ending of the excerpt. 

Option G is incorrect Although it adds a humorous speculation about the landlady, the wife’s comment offers no foreshadowing. 

Option J is incorrect The wife’s comment is a playful one to her husband but does not foreshadow the ending of the excerpt. 
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27 Option C is correct In paragraph 1, Mrs. O’Sullivan’s fingers “dig into the sides of her face” and pick at her face “to sympathize 
with everything that is said to her,” so definition 3 is correct. 

Option A is incorrect Mrs. O’Sullivan is not trying to remove anything from her face, she has a habit of picking at her face to 
show sympathy for others’ situations. 

Option B is incorrect There is no attempt to separate anything when Mrs. O’Sullivan picks at her face. 

Option D is incorrect The picking mentioned does not refer to Mrs. O’Sullivan playing any stringed musical instrument. 
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Item # Rationale 

29 Option A is correct In the excerpt Desmond most resembles a creator archetype. As a result of his paranoid thinking, 
Desmond has created a figment of Mrs. O’Sullivan in his mind, someone whom he blames even for his 
struggle to “put down any new words” as well as words that, once written, have “no magic” (paragraph 6). 

Option B is incorrect To be a heroic figure would require Desmond to be much less self-absorbed than he demonstrates in 
this excerpt. 

Option C is incorrect Desmond is not a rebel; he does not attempt to rise up against Mrs. O’Sullivan, nor does he attempt to 
get his family to share his beliefs. 

Option D is incorrect Desmond is too selfish to care about anyone other than himself. 
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Item # Rationale 

30 Option G is correct Because Desmond is constantly worrying about Mrs. O’Sullivan’s presence and his feeling that she is 
always “in her own room listening” to him (paragraph 1), the reader can infer that he is overwhelmed by 
her presence. 

Option F is incorrect The only relatives mentioned are Desmond’s wife and children. The selection includes nothing that would 
lead the reader to infer there are other relatives Desmond dislikes. 
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Item # Rationale 

31 Option D is correct Desmond’s hope that the pen will write all on its own supports the idea that Desmond is suffering from 
writer’s block. 

Option A is incorrect This phrase indicates that Desmond knows the story he wants to write but does not show that he is 
struggling with writing it. 

Option B is incorrect The author shows Desmond’s usual approach to writing but does not indicate that he has struggled to put 
words on paper. 

Option C is incorrect This phrase refers more to Desmond’s preferred approach to writing than to any struggle. 
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32 Option J is correct 



  
 

  

   6



  
 

  

   

   

                   
               

                   
  

                  
         

               
            



  
 

  

   

   

                 
                 

              
    

                  
  

                 
        

                



  
 

  

   

   

    



  
 

  

   

   

                 
         

      

                  
             

         

                      
   

                    
        

2022 STAAR English II Rationales 

Item # Rationale 

37 
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Item # Rationale 

38 Option H is correct In “Millennials. . . So Happy Together,” the author speaks to the functioning of co-living arrangements; 
the author of “The Leper’s Squint” focuses on Desmond’s inability to adapt to Mrs. O’Sullivan living in the 
same house. 

Option F is incorrect The author mentions past generations and their upbringing in “Millennials. . . So Happy Together,” but 
nothing about them questioning the idea of co-living. In “The Leper’s Squint,” Mrs. O’Sullivan is older than 
the members of Desmond’s immediate family, but no one except Desmond questions the idea of co-living. 

Option G is incorrect The author lists possible ways participants may save money in “Millennials. . . So Happy Together,” but in 
“The Leper’s Squint,” there is no discussion of saving money. 

Option J is incorrect In “Millennials. . . So Happy Together,” those who are attracted to the co-working and co-living 
environments see the benefits, but in “The Leper’s Squint,” Desmond sees the situation as being 
detrimental, not beneficial. 
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39 
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Item # Rationale 

41 Option A is correct In line 33, the meaning of refuted 
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Item # Rationale 

43 Option B is correct The reader can infer from this line that Anna Maria believes that Leopold is ambitious and wants to use 
Wolfgang’s unusual talent to further his own reputation in society. 

Option A is incorrect The inference that Anna Maria thinks Leopold is discouraged is not possible from this line, since Leopold 
shows no evidence of relenting in his effort to push Wolfgang to prove his talent. 

Option C is incorrect This line does not refer to Anna Maria’s belief that Leopold is protecting his child; rather, she thinks he is 
exploiting his child. 

Option D is incorrect There is nothing in this line from which the reader might infer that Anna Maria thinks Leopold is confused; 
she is reminding him of his previously stated opinions. 
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44 Option J is correct The word exercise as it is used in line 36 refers to the tasks Wolfgang completes to continue to improve 
his performance skills. 

Option F is incorrect In line 36, Mr. Barrington does not think that Wolfgang is “employing” something. Therefore, this is not 
the definition of exercise. 

Option G is incorrect The exercises Wolfgang completes are specific to his piano training and not in the discharge of any official 
office or function. 

Option H is incorrect The word exercises as used in line 36 refers to tasks for Wolfgang to complete on the piano, not his 
physical fitness, so this is not the definition. 
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45 Option C is correct Line 17 suggests that Anna Maria “[clicks] into role” and greets Mr. Barrington in a friendly manner in 
order to help him form a good impression of her son. 

Option A is incorrect Leopold, rather than Anna Maria, seems to make use of Wolfgang’s musical talent. In line 54, Anna Maria 
scolds Leopold for “always pushing [Wolfgang] to live up to” Leopold’s dreams rather than allowing him to 
be a child. 

Option B is incorrect The cordiality that Anna Maria presents does not signify any distrust. She is demonstrating good manners 
while greeting a visitor. 

Option D is incorrect It is Leopold, not Anna Maria, who believes Wolfgang is “not like other children” (line 75) and pushes him 
to achieve fame as a musician. 
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46 Option J is correct The motif of the concert creates conflict between Anna Maria and Leopold. In the play, Anna Maria 
disagrees with her husband that Wolfgang should spend all his time preparing for the concert; the test 
intensifies this disagreement. 

Option F is incorrect The motif of the concert establishes the arena for the action to take place rather than introducing 
the characters. 

Option G is incorrect The idea of the concert establishes a goal, not a resolution. 

Option H is incorrect The concert is the end goal rather than an individual event which propels the action toward a final goal. 
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48 Option H is correct The details in paragraph 7 show that experimentation does not require expensive lab materials. For his 
experiment, Nathan used simple equipment such as a food scale, a plastic syringe, and some tubing. 

Option F Is incorrect In the article, exact timing was not essential for the success of Nathan’s experiment. 

Option G is incorrect Since his winning experiment was conducted at his home, Nathan’s experience shows that a technically 
sound experiment can be conducted outside of a scientific laboratory. 

Option J is incorrect The article details the many steps that Nathan followed to reach a conclusion, therefore Nathan’s winning 
experiment proves this statement to be incorrect. 
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